Math 11 Essentials Final Assessment Part #3



       Name ___________________

· Show all work on these sheets. No attached pages

· Total Points:  30
         
1. If 1m is represented by 1 cm, then 15m would be represented by __________. (1 pt)


2. If 5 km is represented by 2cm, then 50 km would be represented by ___________. (1 pt)

3. Each rectangular desk in the classroom is approximately 60 inches long and 45 inches wide. Determine an appropriate scale and create a scaled / labeled drawing in the space below. (2 pts)  













4. Find the volume of the following prisms. (8 pts)

a)               40m                                                       b)                                                    120 cm2  

  25m



50m                                                                                                                             6cm



                   

a) __________________



b) _______________________


c)                                                    3.5 ft          d)                                                   200 m2


                                                                          
4 ft                                                                 
                                                                   15 m




c) _____________________


d) ___________________________


5. A dump truck bed holds 4050 m3 of gravel. The bottom of the bed is 5.2 m wide and 10 m long. How high is the bed of the dump truck? Show all work. (3 pts)







6. A cylindrical silo holds 75 000 ft3 of corn. The silo is 100 ft high. How much land does the circular base of the silo cover? Show all work. (3 pts)






7. Find the surface area of the following prisms. (6 pts) 

a)                                                       b)                                 24cm          c) 

                                                                                                                                                                                            50 km
 12m                                                                                                                                                                                        
                                                          
                                                        16m                                               30 cm                                                                    
                                                                                                                                                                      40 km   


                         20m



a) _____________________

b) __________________
  c) ___________________ 


8. Andrea is giving her friend a can of nuts as a present. The can is 30 cm high and has a radius of 15cm. She has a piece of wrapping paper 200 cm2. Is the paper big enough to wrap the can? Show work to support your answer. (3 pts)


9. A children’s toy box has a surface area of 2600 in2. The length of the toy box is 30 in and the width is 12 in. Find the height of the toy box? Show all work. (3 pts)
